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Question 1 ~ Which one out of the following is an irregular plural?

book chair B man
Question 2 A Complex sentence contains two simple sentences.
B False TRue

Question 3 “Alicia washed the dishes after dinner”. The verb in this

sentence 1s :
[A] Intransitive Ambitransitive B Transitive
Question 4  We use quantifiers before verbs.
True B False
Question 5  The dependent clause is also known as:
the main clause B the subordinate clause [ the adverbial clause
Question 6 How --------- money do you have in your pocket?
B nmuch any [l many
Question 7  Choose the correct sentence

Al The team played quiet brilliant. B The team played quite brilliantly.
[C] The team played quiet brilliantly.

Question 8  The Oxford AstraZeneca Covid19 jab is one of the most successful
vaccines.

[A] a complex sentence B a simple sentence a noun clause

Question 9  “They were terribly sad ”. The underlined word is:

an object pronoun a possessive pronoun B 2 subject pronoun



Question 10 Combining an adverb and a subject create a clause
[A] Yes B No

Question 11
Most companies have suffered because they had to lay off a big number of their employees.
The underlined part is :

[A] a subordinating conjunction an independent clause
B 2 dependent clause

Question 12  Which one of the following is a coordinating conjunction?
[A] though neither --- nor however B for
Question 13 "I would like to have --------. apple juice, please”.

B an the g a
Question 14  The adverb modifies

[A] Nouns, verbs, and sentences. Only verbs and adjectives.
B A verb, an adjective, another adverb or a sentence.

Question 15 Choose the correct sentence

Al Any city can be dangerous, but any common sense will keep you safe.
B Any city can be dangerous, but a little common sense will keep you safe.
[0 Any city can be dangerous, but little common sense will keep you safe.

Question 16  Choose the correct sentence

B [ had a bad experience at work today.
I had the bad experience at work today.
[ I had bad experience at work today.
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Question 1 ~ Which one of the following is a coordinating conjunction?
though however neither - -+ nor B for
Question 2 Choose the correct sentence

Al  Any city can be dangerous, but little common sense will keep you safe.
Any city can be dangerous, but any common sense will keep you safe.
B Any city can be dangerous, but a little common sense will keep you safe.

Question 3  Choose the correct sentence

I had the bad experience at work today:.
B [ had a bad experience at work today.
I had bad experience at work today.

Question 4 A Complex sentence contains two simple sentences.
Al TRue B False
Question 5  Choose the correct sentence

[A] The team played quiet brilliant. B The team played quite brilliantly.
[C] The team played quiet brilliantly.

Question 6 “Alicia washed the dishes after dinner”. The verb in this
sentence is :

[A] Intransitive B Transitive [C] Ambitransitive

Question 7  “They were terribly sad ”. The underlined word is:

B 2 subject pronoun an object pronoun [C] a possessive pronoun



Question 8  The Oxford AstraZeneca Covid19 jab is one of the most successful
vaccines.

[A] a noun clause a complex sentence B - simple sentence

Question 9  The adverb modifies

[A] Only verbs and adjectives. Nouns, verbs, and sentences.
B A verb, an adjective, another adverb or a sentence.

Question 10 "I would like to have «-------- apple juice, please”.
a the B an
Question 11  The dependent clause is also known as:
the main clause B the subordinate clause [ the adverbial clause
Question 12  Which one out of the following is an irregular plural?
[A] chair B man book
Question 13  We use quantifiers before verbs.
B False True
Question 14  Combining an adverb and a subject create a clause

Yes B No

Question 15
Most companies have suffered because they had to lay off a big number of their employees.
The underlined part is :

Al a subordinating conjunction an independent clause
B 2 dependent clause

Question 16  How --------- money do you have in your pocket?

[Al any B much [ many



HENEEEEEEE B

(T T - +2/3/54+
° 3/ °
English Examination First Year - First semester Duration: 1h
Economic Sciences Institute 2022/2023
Answers

@@@@@@@@@@@@ Full name @ ... .
Student’s Card Number :
GrOUD & ottt et e
Speciality: .. ...
[6] [6] [6] [6] [¢] [6] [6] [6] [6] [¢] [6] [6]
Admitted with credit? (JPL i\;): OYes [ONo
[9] [9] [9] [9] [9] [9] [9] [9] [9] [9] [9] [9]
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Question 1  Choose the correct sentence

Al T had bad experience at work today.
B I had a bad experience at work today.
[ I had the bad experience at work today.

Question 2 How --------- money do you have in your pocket?
any B much many
Question 3  Choose the correct sentence

B Any city can be dangerous, but a little common sense will keep you safe.
Any city can be dangerous, but any common sense will keep you safe.
Any city can be dangerous, but little common sense will keep you safe.

Question 4  Choose the correct sentence

B The team played quite brilliantly. The team played quiet brilliant.
[C] The team played quiet brilliantly.

Question 5 "I would like to have «-------- apple juice, please”.

Al a H an the
Question 6  The adverb modifies

B A verb, an adjective, another adverb or a sentence.
Only verbs and adjectives. Nouns, verbs, and sentences.

Question 7
Most companies have suffered because they had to lay off a big number of their employees.
The underlined part is :

a subordinating conjunction B a dependent clause
[ an independent clause



Question 8  The dependent clause is also known as:
B the subordinate clause the main clause [ the adverbial clause

Question 9 “Alicia washed the dishes after dinner”. The verb in this
sentence 1s :

B Transitive Intransitive [C] Ambitransitive

Question 10  The Oxford AstraZeneca Covid19 jab is one of the most successful
vaccines.

[A] a complex sentence B 2 simple sentence a noun clause
Question 11 A Complex sentence contains two simple sentences.
B False TRue
Question 12  We use quantifiers before verbs.

True B False
Question 13  “They were terribly sad ”. The underlined word is:

B a subject pronoun an object pronoun a possessive pronoun
Question 14  Which one out of the following is an irregular plural?
[A] book chair B man
Question 15  Which one of the following is a coordinating conjunction?
Al though however B for D] neither --- nor

Question 16  Combining an adverb and a subject create a clause

B No Yes
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Question 1 "I would like to have - -------- apple juice, please”.

the a B an
Question 2 We use quantifiers before verbs.
[A] True B False
Question 3  Combining an adverb and a subject create a clause

B No Yes

Question 4  The Oxford AstraZeneca Covid19 jab is one of the most successful
vaccines.

[A] a complex sentence a noun clause B a simple sentence
Question 5  Choose the correct sentence

I had the bad experience at work today.
I had bad experience at work today.
B [ had a bad experience at work today.

Question 6  “They were terribly sad ”. The underlined word is:

B 2 subject pronoun an object pronoun a possessive pronoun
Question 7 Which one of the following is a coordinating conjunction?
Al though B for neither --- nor DI however

Question 8
Most companies have suffered because they had to lay off a big number of their employees.
The underlined part is :

an independent clause a subordinating conjunction
B 2 dependent clause



Question 9 “Alicia washed the dishes after dinner”. The verb in this
sentence is :

B Transitive Intransitive [ Ambitransitive
Question 10 A Complex sentence contains two simple sentences.
B False TRue
Question 11  The adverb modifies

B A verb, an adjective, another adverb or a sentence.
Only verbs and adjectives. Nouns, verbs, and sentences.

Question 12  The dependent clause is also known as:
[l the subordinate clause the main clause [C] the adverbial clause
Question 13  Choose the correct sentence

Any city can be dangerous, but any common sense will keep you safe.
B Any city can be dangerous, but a little common sense will keep you safe.
Any city can be dangerous, but little common sense will keep you safe.

Question 14  Choose the correct sentence

B The team played quite brilliantly. The team played quiet brilliantly.
The team played quiet brilliant.

Question 15 How --------- money do you have in your pocket?

[A] many any B nuch

Question 16 ~ Which one out of the following is an irregular plural?

book B man [ chair
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Question 1 ~ Which one of the following is a coordinating conjunction?
[A] however though B for D] neither --- nor
Question 2  Combining an adverb and a subject create a clause

B No Yes

Question 3  Choose the correct sentence

B Any city can be dangerous, but a little common sense will keep you safe.
Any city can be dangerous, but any common sense will keep you safe.
[C] Any city can be dangerous, but little common sense will keep you safe.

Question 4  The Oxford AstraZeneca Covid19 jab is one of the most successful
vaccines.

B a simple sentence a noun clause a complex sentence

Question 5 How --------- money do you have in your pocket?

B much many [ any
Question 6 "I would like to have «-------- apple juice, please”.

Al a H an the
Question 7  The adverb modifies

Nouns, verbs, and sentences.
B A verb, an adjective, another adverb or a sentence.
[ Only verbs and adjectives.

Question 8 “Alicia washed the dishes after dinner”. The verb in this
sentence 1is :

B Transitive Ambitransitive [C] Intransitive



Question 9  Which one out of the following is an irregular plural?
[A] chair B man [ book
Question 10  Choose the correct sentence

[A] The team played quiet brilliantly. B The team played quite brilliantly.
[0 The team played quiet brilliant.

Question 11 Choose the correct sentence

B [ had a bad experience at work today.
I had bad experience at work today.
[ I had the bad experience at work today.

Question 12  “They were terribly sad ”. The underlined word is:

B 2 subject pronoun an object pronoun [C] a possessive pronoun
Question 13  We use quantifiers before verbs.
[A] True B False
Question 14 A Complex sentence contains two simple sentences.
[A] TRue B False
Question 15  The dependent clause is also known as:

I the subordinate clause the main clause [ the adverbial clause

Question 16
Most companies have suffered because they had to lay off a big number of their employees.
The underlined part is :

B 2 dependent clause an independent clause
a subordinating conjunction
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Question 1 ~ Choose the correct sentence

B The team played quite brilliantly. The team played quiet brilliant.
[C] The team played quiet brilliantly.

Question 2
Most companies have suffered because they had to lay off a big number of their employees.
The underlined part is :

a subordinating conjunction an independent clause
B 2 dependent clause

Question 3 “Alicia washed the dishes after dinner”. The verb in this
sentence is :

B Transitive Intransitive [C] Ambitransitive
Question 4  Choose the correct sentence

[Al Any city can be dangerous, but any common sense will keep you safe.
Any city can be dangerous, but little common sense will keep you safe.
B Any city can be dangerous, but a little common sense will keep you safe.

Question 5 "I would like to have «-------- apple juice, please”.

H an a [ the

Question 6 Combining an adverb and a subject create a clause

Yes B No

Question 7 How --------- money do you have in your pocket?

B much many [l any



Question 8  Which one of the following is a coordinating conjunction?
[A] however neither --- nor B for D! though
Question 9  We use quantifiers before verbs.
B False True
Question 10  Which one out of the following is an irregular plural?
book chair B man
Question 11 Choose the correct sentence

B [ had a bad experience at work today.
I had the bad experience at work today.
[C] I had bad experience at work today.

Question 12  The Oxford AstraZeneca Covid19 jab is one of the most successful
vaccines.

[A] a complex sentence B a simple sentence [ a noun clause
Question 13  The dependent clause is also known as:
Bl the subordinate clause the adverbial clause [C] the main clause
Question 14  The adverb modifies

Only verbs and adjectives.
B A verb, an adjective, another adverb or a sentence.
Nouns, verbs, and sentences.

Question 15  “They were terribly sad ”. The underlined word is:

B 2 subject pronoun a possessive pronoun [C] an object pronoun
Question 16 A Complex sentence contains two simple sentences.

B False TRue
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